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Test Name : BIODCHEMISTRY
Time : 90 minutes Maximum Marks : 100
Answer ALL guestions.
Each question carries ONE mark.

SECTION - A
1.  Albumin is solely synthesized by
Bans a%,E STED D85 b
{a) Liver {(b) Kidneys
s &t S dotsna
(e}  Muscle td] Red blood cells
Hoti530 I 5 Seen

2.  The functionally active form of vit D
Deadorio “D” @), 32 St D08ES drde

(a} Cholecalciferal (k) Ergocaleciferol
Sosyhiors 2 sydyvorS
' (¢) Dehydro cholesteral td} Caleitriol
& &t s'opod sydh Baird
3.  The thyroid hormone thyraxine (T4) is derived from
god)m (T4) &3 Boronl HEYS ——————— oD Difebid,
{a) Threonine (b} Tryptophan
EBGHD s
(¢} Thiamine (d} Tyrosine
Panmg 8EDS

4.  Master organ for bodies metabolism
' #08 Dowerd 356" od SerotuD ebdinhm

ta) " Heart {b) Brain
Ty aiss (KoR) oS
(e} Liver {d) Kidney
S dnn Sarphbonmng
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Bilirubin is the excretory end product of degradation.
BDd5DS ot DayF BoH PGS Sorgha.
(a) Pyrimidine nucleotides (b) Protein
B8RS ArBarghen rediven
{e) Bile salts (d) Heam
Doy ebered S

The greatest buffering capacity at physiological pH would be provided by a

protein rich in which aminoe acid

5 enS® esytoy B Dy @ SeardRss pH S5 IS aynBoR Sirgyio

DR Hoeraw?

(a) Lysine (b)
Bw

(¢} Valine (d)
508

Hormone(s) produced by kidney

SarEbotre) dhd Do B o/

{a) Erythropoietin . ()
2B E 2r008S :

(e} Calcitriol (d)

E"EE'JLEM

Functional unit of kidney
sarBdodiin @Y, Gdir SSrdshon

{a) Nephron {b)
D@

{e) Glomorulus (d)
Resosren

Histidine
FREDS
Glycine
Qb.ﬁ

Renin

G

All the three

estyaioo (PP BODH Sore FE)

Neuron
;‘u*;mE
Renal tubule

856 eargpogd

Fatty acid that must be ebtained from the diet by humans

Bododpgus

{(a) Oleie {b)
£.0008

{e) " Linoleic (d)
85*'8o0k

Ers essudnn B5H0H0m e3tEhn oo drolosin.

Palmitoleic
Sete5 ok

Stearic
Raies

The chemical nature of primer required for the synthesis of DNA
DNA Hoihmsndd ebdiid @riogsedto Qs Sa-abd Hgtranmn

(a) DNA (b}
(e} hn RNA (d)

(Test No. 01) 4
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Which of the following are termination codons of protein synthesis?
&5 208 TS° 02 12485 BBRHINBH LEBSS Poleres

(a) UGC, UGU, UCG {(b) TUCU, UAA, UGG
(e) UAA, UAG, UGA {(d) None of the above
P25

Deficiency of Vitamin B12 causes

De:205 B12 6%5500 S0 — ———— Sodidotui.

{a) Megalo blastic anemia (k) Hemolytic anemia
2N erE edioal r2arPat ebavair

(¢} Permicious anemia {d) Macrocytic anemia

SHHdinn ebaodh S el ebandah

Awvidin inhibits the absorption of

Fhpdo edds 25 Bodody.
(a) Folic acid {(b) "Biotin
2405 ess adiraS
(e} Pyridoxin {(d}. Niacin
2820 ' RIS

All the hormones mentioned below use cAMP as second messanger except.
B, |Bots BSGK IVH ey FES PEE cAMP 2 Boddh odberBre

ao@rRoduE Ao,

{a) Glucagon {(b) Adrenaline
RPsnee e Emd S
(c) Follicle stimulating Hormone (d) Estrogen
PORS Raodilol HEYS Soges
Epinephrine is formed from norepinephrine by
B OIDBS fvod ———— Edb oo I P .
{a)— Methylation {(b) Decarboxylation
20858 dsophBas
{¢) Hydroxylation . (d) Transamination
et 858 ETIIAS

5 ) (Test No. 01)
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16. What is untrue of steriod hormones?

17.

18.

19,

20.

Roron& 7S HSabind® D8 agyp sE?
{a) Synthesized from cholesteral
§'BgorS Mood SFMBHG
{(b) Binds to intracellular receptors
serotsg Bhgbas Yol erbd
(¢) Stimulates adenylate cyclase activity
eddBSPES @wy), Bairiesi (Do $ORct
(d) Binds to DNA and increases gene expression
DNA % Pof svto He ey 95860 Dodoi

Antibodies are produced by

0 Simen —— — $000 B SBEYD.

(a) B lymphocytes ib) T lymphocytes
B Sopeh) T dopeped)

{e) Globulins {d) . Plasma :elln
Fmosde) g Seren

Among the following which is not a secondary lymphoid organ
e (208 Tdd" 28 ghai dogranl eSdhitn s

(a) Thymus (b) Spleen
e 5.5

(¢) Lymph nodes id} Tonsils
dog 36 erond)

BCG is a vaccine for .

BCG —————— aws), 5%,

{a} Polio by TB
adAFT e

{c) Tetanus (d) Hepatitis
a0 TESHE

T.hﬁ major Ig present in mothers milk and tears

B8 Sed’, SHiHS® SerEtol Hoth asoryS” Augds

{a) IgA (b) Igl

{c) IgDh - . id) IgM

(Test No. 01) 6
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The first human hormone produced by recombination technology is
Predodired BOSANIL oo 204D0SL &i5)8 Sabeds DrED FE

fa} Thyroxine {(b) Estrogen
pordys Hamd

{c) Insulin (d) Testosterone
ER BpoeS

In regulation of gene expression, a repressor protein

erdog |SEed Dabownd” Bamb @eds ——— & woditn DBHE R,

{ia) A Enhancer (b) AUG
JE:PQJE _ ADG

(e} Operator id) TATA Box
easte TATA &8

Restriction endonucleases were discovered by

BRES doE ArB@rEHn 65,8005

(a) Korn berg (b)Y James Alwine
8 of 85 2505

{c) Wiener Arber {(d} Robert Snell
26 ety ouf S

In ELISA the enzyme label for the nhtihndy may be
ELISA (282) &' 56 d55ck Sand Jabadd JoB

(a) Lipase (b} Amylase
Bad . CRVG

(¢} SDH {d) Glucose oxidase
SDH KBS eady2n

Wilzon's dizease iz due to the deficiency of

enT TR ——————— S50 Do Sentbi.

(a) Iron (b) Potassium
DB rarhaiio

(c) Todine (d} Copper
o@rds ' =56

{Test No. 01)
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Among the following which is a glucose tolerance factor
& |Bo8 736" 08 AT er8day sk

(a) Copper ; (b) Zinc
558 HotH

(e) Chromium {d) Manganese
E*odhd ArorhS

The bacteria Yersinia pestis causes

JyRcir byh e el ———— o E@Aodor.
{a) Typhoid . (b) Plague
Srand FLY
() Tuberculosis {d) Cholera
bargptio, 65 S0
Baeteria having flagella throughout the cell surface are called
g a5Blesn sobe Segtne o argfidiri ———— eo.
{a) Lophotrichous (b} Amphitrichous
& B8R L eh R
(e} Peritrichous {d) None
- 2B 285D
Kwashiorkor is due to the deficiency of
SRaE),E 82 &5t ¢ Lot
{a) Calories (b Fat
ol Emg Sargsooen
{e) Vitaminsa {d) Protein
BT AroSpEyloes
Which of the following antibiotics inhibita DNA replication?

&5 1208 cirodncird§)E’ DNA 58585 25°80558

{a), Puromyecin (b) Rafamycin
Sypeae il B

{c) Streptomyecin {d} Nalidixic acid
BYRRDS TOASE e

{Test No. 01) 8
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SECTION - B

31. Enzymes catalyse reactions by

R — Y RN

(a) Increasing the entropy of the system
Sy @k, JoES*DD DodeEHw

(b) Decreazsing the activation energy of the rEuchun
S8 Boo¥), aBeLld BRodto

(e} Altering reaction equilibrium
585 Bk, SEPSD Ao

(d) Lowering total energy levels of reactants
SorgsrEste @), Aodo 35 oo Bfoddo

32. The Site of enzyme modification by phosphorylation is the amino acid
0P’ FRBhN o Erd-obitn S e’ ehnd” B

(a) Arginine (b} Cysteine
o e

(c) Histidine (d) - Serine
Erﬁéﬁ N8BS (M8S)

33. Units of K« value of an enzyme

JoBa @), Kn (3055) Dendlh [3dreio

(a) Moles/sec (b} Calories
2urdyEed syeben

{c) No units : _ {(d) m moles
Eareo B 208 Jurd,

34. BSelect the compound that accumulates in the urine in Maple syrup urine
disease

Arghd HED cfar8S TyRE Surpand SonahBno FarysHEw
(a) aketoacids of branched chain amino acids
Eroot 35 s20F edyive @ng), a 85° eiboa

(b) Dopa
&

{c) — Homo cysteine
F2r dgs

(d) Phenyl pyruvate
Yo prodeds

] (Test No. 01)



35.

36,

37.

38.

39.

www.eenadupratibha.net

All the following are considered major metabolic intermediates formed by
amino acid degradation {catabolism) except

& 208 7B ————— &Y mmﬁmmmgmﬂ

ErarofiS Hpe d58ir Sonols Srighsen.
(a) @ E.atn glutarate (b) Succinyl CoA

a 865" Hiperdel 2896 CoA
(e} Aceto acetate {d} Citrate

efes® el MydeS
The reactions of urea eycle oceur in the —————— of liver.
afarBair Hifo Mg, e SBHabIE® — ———— dings BEHR.
(a) Cytosol :

Eea (&g Sido
(b} Lysosome

Bl H0
(e} Mitochondrial matrix

AFeroddir armdy

{d) Mitochondrial matrix and eytosol
e Trodair 3B Dobaky St @5y 0ko

Name the compound with greatest standard free energy

B IS ot B ALY e FAyensw

(a) ATP (b) Phosphocreatine
ATP ey Bciire3 s

(e} Cyelic AMP : (d) Phosphoenol pyruvate
P28 AMP Fratyaard paidd

The amino acid that eortributes to the synthesis of more than half of the
pyrimidine ring
58205 Bofi SoESHoS” H ©20F" o SMSSEPIT DOYERBNDHL SBea®

(a) Glycine (b) Glutamine
F,
ARD Areips
{e) Glutamic acid (d) Aspartic acid
e 28 g s estiyso

The end preduct in purine catabolism in humans is -

Srped” TR 28y Bab6® itk woss a0

(a) ~ Xanthine (b)  Uric acid
r‘goﬁ.ﬁ WBEH;‘H;‘H)

(e} Urea (d) Allantoin
carBair S0 700

(Test No. 01) 10
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Sickle cell anemia is a good example of ——————— mutation.
HES Wb edboair aiinBOEHL 28 Bo0d oI,
{a) Missence (b) Silent
' D08 pBos
{e) * MNonsense. - {d) Frame shift
o AN (e DR

Among the following which is Michaelis Menten equation
Hafol TS PID Dootas SoEbedn 287

(@) V=EKn+ VaoulS) (b)  V=VaulSWS) + Ka
(e) V=V + (SWEVEa (d) V= Vil S)V/Ka

Un competitive inhibitor binds with

@S srodelal a5 5Ea B06° woghn 258505 M

(a)} Active site {b) Alpsteric site
535 iS5 (aIrgS peS) oG 185 5

{c) Enzyme substrate complex fd} Substrate
Jogaw ~ Bdirgrdos Sofgo oo

Nitric oxide (No) is produced from which of the following amino acids
Ha (208 T eiydnd® 80 od Pl egyond (No) edyzubi

{a) Histidine (b} Lysine
RS Bho

(e} Arginine ' {d) Serine
025 k)

Among the following which is both glucogenic and ketogenic amino acid
e 208 T36* D8 BS5'ERE SuBdin KBS 20l eisdn?

{a) Lysine {(b) Arginine
gb5 ogos

{e} Proline {(d) Tyrosine
85 26*DS

ATP synthase is inhibited by
ATE Hodd 82 Hed 16 Bodadtoin

(a} ' Puromycin (b} Oligomycin
IesBwhS edRHS

(c) Atractyloside {(d) Bongkrekic acid
B@Tﬁﬁﬂiﬂa IJ‘DE?-;E H’-'l,.{':‘—'-"-‘

11 (Test No. 01)
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Methotrexate inhibites which of the following enzyme
&+ 208 JoPiwed” Ban 205 B 25 Qodui

(a} Thymidylate Synthase (b) Cytidylate synthase
PABS BodS DOEBSE HoBS

{e) Dihydro folate reductase (d) Adenosine deaminase
ipE" 9585 88D el 0 Seadidd

During the process of purification of enzyme, the specific activity goes an

JoPBwess D Sain $ERE0S* o0 PIPE efod

(a) Increases (b) Decreases
LAY : : Bito
{e) Constant (d) Cannot predict
Bt Hotio E2roRoni beogi, () Bhw)
Cytochrome Pis is involved in
DE°E 0 Paso B265° im0
(a) Carboxylation (b} Oxidation
sophBas ehEis
{e) Transamination (d) Hydroxylation
D50 - rEhdas

The coenzyme biocytin is involved in the transferring of following group
DA pde o §-J0B0 &1 S pBd Stged” G
{a) Amino group {b) COa
@25 o sy & &8
{e) One carbbn group {d) Acyl group

K sﬂtﬁiﬁmn ;ﬂﬁ:} u""gg ;‘:gn

The low valve of Ka indicates
85 Km Dol 800 Ar-2obomd
{a) High substrate affinity of enzymes
6B @, iy (Bdirges eroise
(b). High enzyme activity-
DB S ook, ey Batred
(e} No effect on reaction
B850 D PEEEn 355
(d) Low substrate affinity of enzyme
0B @k), OB erodd

(Test No. 01) 12
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Which of the enzyme provides link between glycolysis and citric acid cycle?
ASOY5 0Bk HEIE eipin IFANID Sreys $HRo JoBin DE?

{a) Acetyl CoA synthetase (b) Pyruvate dehydrogenase
8PS CoA Dogdn PSS &ip E'E30

{e) Lactate dehydrogenase (d) Citrate synthetase
%S aipE'Eih piEleS hogEln

The nucleotide invelved in glycogen synthesis

A8'ad Sodiend’ 2 drglarps

(a) ADP (b) GDP

(c) - CDP (d) UDP

Among the following which is the correct statement of HMP pathway
& 208 SdrSHes” HMP S5506° Sonodhomr 28 L3y
(a) MNADMis used a8 hydrogen acceptor
NAD*2p %550 RBosoid
(b) ATP is produced
ATP sairtih
{c} Twio trans Ketolases are involved
Both ey 35 BR5 e
(d) All of these
D eaydi

The conversion of ribonuclectides to deoxyribonucleotides is catalyzed by

PSS argien, duldy patirdargernr Sy Dos B —————

o@hu :’:E estafono. :
{a) Ribonucleotide cxidase {b) Ribonucleotide reductase
2ENrEAroE efdh - PERrERrDE BEED
{e) Ribonuclectide carboxylase (d) Ribonucleotide synthetase
RrEArDE sophEh AR ArnE Hogdh
The N atom at position 7 in the purine ring is derived from
DPS Bodbodn T S fpdo Hody P PPEd SEArewy ——— ol
a5 oo 8.
(&) Glutamate : (k) Glutamine
RTesdres | Arer2ps
{c) Aspartate {d) Glycine
esmBes BdS

13 - (Test No. 01)
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The coenzyme that participates in transamination reactions is

[ErTRAIRR SHsS” S §T 085 287 .
(a) NADH (b) H4F Tetrahydrofolate
NADH HJF By 1o &'piBdS
(¢c) Pyridoxal phosphate (d) FAD
2BErsnS vineS FAD

Cholesterol synthesis is controlled by feedback inhibition of the enzyme
5 Jogan @uk), HE oS 06° R oo FBgTSiy et BabBdayh

(a) HMG CoA synthatase (b) - HMG CoA reddctase
HMG CoA DodEsh HMG CoA 885

{¢) Sgualene synthase (d) Cholesterol aynthase
,8adS Hodh §'apord Hodh

One of the following enzymes in glycolysis catalyses an irreversible reaction
&2 208 JoBS0s" 258 FrobDE'D etu)neddb Babd aiBosui

(a) Hexo kinase . {b) ", Phosphofructokinase
TEHRTAD SRHPE F

(e} Pyruvate kinase (d) All of them
DS T 2P 3ddD expain

The number of ATP prodiced when a molecule of acetyl CoA is oxidized .
through ecitric acid cycle

23 esino Sytfo Tryee 5, wDES CoA oend GBS vauid IR ATP e ygHin?
(a) 12 (b) 24
(c) 38 (d) 15

The storage form of high energy compound in invertebrates is
aHEyS” Ip IRg sodrg @), Dend drdo

{a) Phosphocreatinine (b) Phospho Arginine
iy Bairdas . Ry Hgﬁﬁ

{c) Pyrophosphate (d) Serine phosphate
RO WS &S

(Test No. 01) 14
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SECTION -C

All of the following contain glucose as a structural unit except
He 208 TS ———— & ) s dS KrEih doye SSrdEiom
DYo.
(a) Maltose (b} Glyecogen

Ao As'8S
(e) - Mannose (d) Lactose

Srahs o3gP

Which of the following amino acid is not found in proteins?
&4 208 3E° D s20F* eiyo PE* Hotita?

(a) Threonine (b}
BATDS

{¢) Hydroxy proline (d)
Eg) 995

Homoeysteine
:F‘:a*-b&ﬁ
‘Methionine

HHATDN

Thymine is present in which of the following

& 808 TdS° Povdumno ¥8A Dy

{a) Ribosomal RNA (b)
B6'%0d RNA .

{c) tRNA : (d)
tRMNA

Two proteins of molecular mass of 120
separated by

Prokaryotic mRNA
PremgfardE dwk), mRNA
Mammalian mREMA
frore Gk, mRNA

KDa and 25 KDa can be easily

25, 120 86" G eew g fe Both Py D 558 Ty Mediinr 3 Jabisan?

{a) . Gel filtration chromatography (b)
wd W ES0s

{¢) Ion exchange chromatography (d)
edire Jhos EoneS it

15

Affinity chromatography
ohod F S
Adsorption chromatography

samihas E%0e 1y

(Test No. 01) _
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Assuming the half-life of a substance iz 5 days, what will be the amount of the
substance left after 15 days if the initial amount is 64 grams?

wwmﬁﬁmwﬂmmmﬁum

28 AV MMbenin?

(a) 4 grams (b} 32 grams
4 e 32 raooes

{c) Bgrams (d) 16 grams
8 yrmen 16 rsoes

Protein sequencing by Edman's degradation is used to determine

a5 i Aty SHofmRues” %) APRASS ey SEg =
et aSBTRodSHD.
{a) N-terminal amino acid (b} Methionine
N-00856 ©2085* esfgdn 2875
{c) C-terminal amino acid {d} Internal arginine and lysine
C- 2858 o205 espduo oS e§oS 2Bain PHd

The order of frequency of the following radiation
e Bols BODD DEBp0 k), Bl GluoE), |Hhw

{a) IR > UV > Visible {b)" Visible > IR > UV
IR > UV > 2fand Sefand = [R> UV

(¢) UV > Visible > IR (d) IR > Visible > UV
UV > 58z0é > IR ' IR > 2e%enés > UV

In proteins a helix represents °

PS8 mem 1y — ——————— o BOaLB .

{a) Primary structure (b) Secondary structure
[BrE20¥ Dyesso Bgdch Do

{c) Tertiary structure {(d} Aggregation
£y Baly Dozess ‘ Hsindydhdo

f.iinca the PK values for aspartic acid are 2.0, 3.9 and 10.0 the isoelectric point

18
esipe3E esisuion PK deniden 2.0, 3.9 508atn 10.0 wowi o0 0208 886 sroxotd

(a) 3.0 (b) 3.9
(e} 59 (d} 6.0

(Test No. 01) 18
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The molecular mass of an amino acid is 160 daltons, the molecular mass of a
tripeptide of the same amino acid will be
a¥ S ado @wY), s GE350E 150 GoRd) BowdH od 8s eio ),

(Bogons dwt), saiyed

(a) 450 daltons (b) 486 daltona
450 arg, 486 Grgey

(c) 504 daltons (d) 414 daltons
504 Grgeyy 414 Grgey

71. Among the following the templet for the synthesis of telomeres 12

72.

73.

51 208 36" 3608 Sofnnns Jursietin

(a)  DNA (b} Protein
DNA ]

(e} RNA . {d) None
RNA 205

Which of the following series of pn]jnﬂmhm'ida;i contain (1—6) glycosidic
linkage?
$1 (208 36" (1-6) JEDAE Sirons o 3d-Spchen D27

{a) Glycogen, heparin (b) Cellulose, glycogen
RSB, r85 heé™h, A5*as
1 28

(¢) Inulin, Amylose (d} Amylopectin, glycogen
ﬂﬁag' E"‘:Eﬂ“ M‘;ﬁ"sr Eﬁﬁ

Glucose and mannose are epimers. This means
A ofaiy IFFhR ddduten. ek
{(a) They are mirror images of each other
ol o oDl a8d DdDogren
{(b) Ome iz an aldose and other is a ketose
‘298 odlh 2Bk 208788 85

(e} — They rotate plane polarized light in nppﬁ!it& direction

. 22 DS 220EE srod DIBE B0s® Syt
(d} They differ only in the configuration at one carbon atom
ad wl), St SEBRrEY Sid SRy Bass” Ba DR Yot

17 (Test No. 01)



5.

76.

17.

www.eenadupratibha.net

. 74. Ribozymes are
Eﬂ‘-"‘%&a s -
Enzymes which use ribose as substrate
Do BdiroX aS@rRoniET JoBhwen
{b) Enzymes working on DNA
DNA} 5080500 dogiawen
{c) Enzyme RNA complex
Jo@sn 3B8cin RNA Solge
(d) RNA with catalytic activity
Ao Bt 5ORS RNA

Among the following structural organizations, which is commonly found in
transmembrane protein that cross the lipid layer

€s (Boll 3D Royerls Sodgridved” STEdiul———— % 058 pdanls
Rotite JoBd B Pl 5OR Hodo,

(a) er-helic (b) Parallel 4 -pleated sheet
a -wréf, indleds - HBE LS

(c) Antiparallel § sheet (d) " All'of these
wot 80 § 1S =9 ey

In electrophoresis, if the pH is above isoclectric point, a protein will
o HUNDE" pH 0drdo 58 Sonokn Soil I3 HiyHih Pl

(a) Migrate to the cathode (b) Migrate to the anode
S56'6 PH Ebens a8 YD Lo
(e} Not move {d) Precipitate
Hie DOHTE eihin

Inulin is used in asseazing Glomerular Filtration Rate (GFR) because
GFR (7 o0rerh 58850 B Jio Benif e aighlSih AS@rfoiEin Jokssm
(a) Itis a poly saccharide
a8 2488 ssto
(b) Itisa polysaccharide of high molecular weight
wl 2505 e o Ko dEpE
(e} It is insoluble
=6 5818

(d) It is a polysaccharide of low molecular weight and non-utilizable in human
tissue

B iy eew R He SERedid SoBain A Snerein aS@rRosS et
Sevsna '

{Test No. 01) 18
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An amino acid that does not form & helix is

a -2rdEy5) EBRoDD emnS’ esipinn

{a) Valine (b) Tyrosine
TO5 g5y
{e) Proline (d) Tryptophane
Gl 3
When a denatured DNA is allowed to renature, there will be?
d“.ﬂ-&ﬁ DNA 830b enpdioinpdy
{a) An increase in absorbance at 596 nm
595 75" Boeals S Fieason O
{(b) A decrease in absorbance at 260 nm
260 5" hoesd SIS Fhmtw B0

(¢} An increase is absorbance at 260 nm
260 5* Doeals S8 T DEOD

(d) No change in absorbance at any wave length
255 Dol &if5 Fapdnd” Sy Potsd

Which amine acid residue is most likely to be found in the interior of a water
soluble globular protein?

236" 4B rrangerB @4l SopEE* eoBEcH rEns’ FBrBm Hot enst

esiuso
{(a) Serine {b) Valine
283 (93%) - T30S
(c) Arginine (d) Aspartate
esBDS esarmfieS
The antifreeze glycoprotéin consist of repeating units of the tripeptide
dirod b Egﬂpadng ——— @yponE SEreint Mo e SOR
000,
(a) Gly-gly-thr (b) Ala-Ala-thr
(c) Gly-ala-thr (d) Thr-gly-ala
Polysomes do not contain
sedidsned’ ad okt
(). Protein : (b) DNA
25 DNA
(cy mRNA (d}y rRNA
mRNA rRNA
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83. Nucleic acids are absent in

d

| ot esiren H06" Po&Yy

(a) Nucleus (b} Mitochondria
BosEaw Wis'sodalr

{c)” Ribosome ' {d) None of these
[l Y 3D Db

84. Iodine number iz useful to determine

@TES Sogy ——— 5 SDOATHLD 43D

(a) Purity of fat (b) Chain length of a fat
57ang Sorgian qos), st mm-gam%ﬁmm:g

{¢) Unsaturation (d) Number of hydroxyl groups
esiot)SE WEEhS e Soat

85. Coricyele integrates body metabolism to

£°0 &850 66 5By —————— &' Sarseno Bakods.

{a) Re synthesizes glucose from lactate in the liver :
sBdiibn Hodo erFeS Mo NS Ryis BER SoEishin Adio

(b) Oxidize acetyl CoA in the muscle
EossB506" ehDSE CoA Sy mdyESne ddinew

(c) Generate urea in the Kidney
S Dosred’ dhrfoiri 4 Iabdo

{d) Generate glucose from acetyl CoA in the liver
sdabins® edDE CoA Moo KPS a8 abio

86. The number of base pairs present in Z-DNA helix

Z-DNA &° n.8 Tr85)E) O 6 dinifiooen Hoadn?
(a) 10 (b) 11
(c) 12 (d) 13

87. Mature enkaryotic mRNA have ———— as a §'cap.
. Do Bosred® 5B55g0 o8 WhonE mRNA H ——————— 5'535,-_1-;:-:::&;:”
{a) 2-methyl guanosine (b)  3-methyl guanosine
2-2095 mgS" e 3-20g6 mgs'ps
(€} 5-methyl guanosine (d) 7-methyl guanosine
5-20p6 mgRS - 7-2096 mgSpsS
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Among the following which is a sulfur containing essential amino acid
&1 (208 TS’ Henb LIRS edigE v’ ediniun 287

{a) Methionine {b) Cysteine
268735 34

{c) Cystine (d) All of them
b‘iﬂmﬁ eafyciian

GM counter is used to measure which of the following radiation
GM ZrowBa &4 fod B335 I 238mhui Fae) s5ArRodst?

(a) @ -radiation (b) f-radiation
a ~2E8en A -DB8ssn

(e} y-radiation {d) All of these
¥ —Da5esu0 B eydin

The NMR uses which of the following electromagnetic radiation
o |20sS Py 2 IB G A eIk BAArESN NMR a3a@rfiohi

(a) Visible rays (b) Infraredrays
Setends B BopEros O
{e) Micro waves (d) Radiowaves
ET DY, T-To et
The cell organelles can be separated by
Serorthnes OO orgor DESEHHEN
{a) X-ray diffraction (b} - Differential centrifugation
K-8 2rEe A5Bodahd Holiuing
{c) Auto radiography (d} Electro phoresis
et BAGBTPD IBIE; PEHD
One of the following is a atable isotope
& 1208 35" 08 Q&E:s %S ?
{a) N5 by I
(cy Pu (dy Cu

In structural anealysis of proteins the following technique is used
Deelid DoErEY FREBHD Fe Bol BODI D 2cE8E DErHHEL ASBIHHE

(a) CD (b} ORD
(e} NMR (d) All of these
D emnain

Which 'of the following isotope is a ¥ -emitter?
G208 oS D oanShp ¥ -dDowb?
(a) 22P (b) *H
fg) Y (d)y MC
21 {(Test No. 01)
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95. Emission of f -rays from the nucleus results in the production of
ArgBad food f B NS By ———— &S ehHi.

{a) Isotones (b) Isotopes
oRrS* Sy pRred e

(c) Isohars (d) All of these
odterly 2 efydin

96. The number of double bonds present in linolenic acid

TOE eidpod® tends eroly Roy

{a) 1 _ by 2

(e 3 id) 4

97. Hydrolysis of fat with alkali is called
 ETsio rtibod” e J95500 Dabetnoin —— L sindhi,

{a) Saponification {(b) Acidification
HEeDVESS  endiEsS
{c) Oxidation (d) Ramidation
esd 255 t:r".q]a;’)ﬁ
98. The nitrogenous base present in Cephalini is
RrdSE"D De e B
{a) Choline (b) Ethanslamine
g'85 adarSeng
(¢} Serine {d) Cysteine
35 - 5585
99, Chemically heparin is
WwEnBS SardlDEom
{a) Purine {b) Protein
DDS @S
{e} Carbohydrate (d) Lipid
. At T T aBHE
100. Which of the following sugar does not form ozazones?
e ol THEE" L6 oy JG 5508
{a) Bucrose {(b) Lactose
RED R
(e} Maltose ' (d) Galactose
IS myege
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